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Note:- You have four choices for each objective type question as A, B, C and D. The choice which you think is correct; fill

that circle in front of that question number.

will result in zero mark in that question.

Use marker or pen to fill the circles. Cutting or filling two or more circles

(D) (C) (B) (A) QUESTIONS Q.1
SFEdS |G| PG | Sund |6 Jes @ ed G § (b g SEN K, 2| 1
S ireversible | Forward reaction el LInnlic Ld L

decomposition |  reaction Reverse |\When numerical value of Kc (equlibrium
reaction reaction | constant) for a reversible reaction is greater
than 1. It is
e | ] | ] (El] e rdeeisiiitss | 2
[Nz][Hz] [NZ][Hz] [Nz][H2]3 [NH3]2 The expression for the equilibrium constant
for the given reaction is
sz +3H,0 2NH3(g)
sulphuric acid | benzoic acid | Hydrochloric acid | 42 & e br & o122 DL NP S| 3
1A Lo 22 Gy s 82, | acetic acid | The acid which is used for food
preservation is:
Aluminium | 22U Tusa S | Tz Sy | i e e b eI 2 U B 002 2| 4
hydroxide Ammonium Potassium LT The base which is used is allkaline batteries
ST A% | hydroxide hydroxide Sodium |is
Hydroxide
90 80 70 60 e Akt e fh| B
Percentage of carbon in anthrcite is
CH,Cl+Cl, - CH,Cl, + HCI || CH, +Cl, — CH,Cl + HCI e PO S ot et o] 6
The reaction of halogenation of CH, in
CH,+CL—>C+4HC | cg.cr+cl, —>cHC,+HC||
bright light is
SN b i) Py Peptide linkage exists in < £ 25 5 ¥im| 7
Carbohydrates vitamins fat Protein
Vol Ve iy Ayt | e FaSE oD E SRS 8
Thermosphere| Mesophere Stratosphere | Troposphere | The layer of atomsphere which has ( 2 to -93°)
il e i E Mg™ 5 Ca™ sEuw S £ Mg L Ca e e adbard s en S8l o
bicarbonates of Ca™ & Mg™" [[auses of permanent hardness of water is
Chlorides and sulphates of fue to presence of salts
Mg™ and Ca*”
S kL Na* T Mg s Catt
Carbonates of Na* Carbonates of Mg"" and Ca™
SO%  and Cl” and NO; and SO; | NO;, and Wy (- Jiﬁ/’]—’&f'uﬂdkf*?'” 10
PO S0 PO The substances which cause the rapid

growth of algae in water are.
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Distillation | Froth flotation roasting Calcination o3 th
Concentration of copper ore is carried out
by one of the following:
Sroerd STz ST ST [rey Uiy bl Jd ez L e 2 dsamr| 12

Kerosine oil

diesel oil

Fuel oil

lubricating

oil

-l

O

Which one of the following is used as jet fuel
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Part I d:l -

(10) LI L ey bl e (e it -2
2. Answer any FIVE parts from the followings:-

et i) LISk LS )
A LIS L A S e (i)

€O, +3H,,,0 CH,+H,0, () H, +Ly0 2HL, ()
LIS L Gt W) el SO SRS ()
e Gtz e SR L vt B i)
e e g gL A (i Sl a FH (i)

(i) Define chemical equlibrium state? (ii). How the active mass is represented? (iii). Write the equilirbrium constant
(a) Hzm +I2(n) 0 2fﬂ{g (b) COM +3H N CH +H20(g)

expression's for the following reactions. ) 2(g) 4(g)

(iv) Give the two characteristics of reversible reaction. (v). Differentiae between Lewis acid and lewis base.
(vi). Name the gas liberated when alkalies react with ammonium salt. (vii). What is meant by the term "indicator".

(viii). Why is pure water not a good electrolyte.

(10) L fez L ey by e e L Ssts -3
3. Answer any FIVE parts from the followings:-
3P I B § iy e sa St (i UL )11c% S

Lo ¥ gy HAEE S (coal S i

_.u.'f’g..':,Ulr;‘lm.’/.u:.th" (v)
C\,H 0, + H,0 458! :
1242122V 2 Wet‘lﬁ;l_ffﬂ»ﬁ&’gﬁ/ﬁ%‘-{/yfﬂ’dJ (vi)

G LIPS S sy (il < U5¢DNA (v

(i) Define Petroleum? (ii) Differentiate between primary and tertiary alckolos? (iii). Write classification of coal?

(iv). What is meant by the term combustion”. (v). Give two uses of acetylene? (vi). Complete the reaction when

C,.H,, S Ody ™ HCI
sucrose is hydrolysed eal . (vii). What is the function of DNA? (viii). How do plants

sythesize carbohydrates?

(10) S22 Pl vy e L ditn -4

4. Answer any FIVE parts from the followings:-
LAY Qo5 st sr i) - S G T St § Ay i) oS L Bty S G S L 2 Gy
suslor £ A Sop ¥ _winus i n £ Uty  Ie(vi) Su= G U W2 LS5 2 bl S 2S5 2 ) et
S ek Na,CO, f NaHCO, o, § st (j?_f_(viii)
(i) Enlist different spheres of atmosphere? (ii). Write two effects of global warming? (iii). Differentiate between
primary and secondary air pollutants? (iv). How does sodium zeolite soften hard water? (v). Give difference between
biodegradable and non biodegradable substances? (vi). What are two advantages of Solvays's process? (vii). Name

the various metallurgical operations? (viii). Convert NaHCO; to Na,CO, with the help of chemical equation.
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Note: Attempt any TWO questions.

5 gL B IS 2 g S FEIA ST (@) -5
4 -uf‘U;,uWch‘_;l/gc_PH (b)

5. (a) State the law of mass action and derive the expression for equlibrium constant for general reaction. 5

(b) What is meant by PH. Give its uses. 4
5 Sl PRI T S S L bl $d (a) -6
S EBL g 0 S e (b)
6. (a) Describe the oxidation of ethyne with chemical equation. 5
(b) Explain that amino acids are building blocks of proteins. 4
5 oL @ﬂu;uméngf)&,ﬁ (S -7
4 ) J/rl;lz,)'u):b/b;l&_ﬁJ%'JJggL}I;ZE.fL/JJC?i )
8. (a)
7. (a) Give the five uses of petroleum fractions with their boiling range. 5

(b) How does polarity of water molecule play its role to dissovle the substances. 4


http://www.result.pk/

(Il)mwzfcl.? (Ab2015-17u’-'-'u€w) (i =sla (Jf)d;»f}sdﬁl.

Time Allowed: 2 Hours o,

Maximum Marks: 30

12 gt Zn v L F(Solutions) AL 1 FL £ 2 £
Demonstrate the different solutions are conductor of electricity.
L
&L sy BgK (Acetone)u s L EL S
Determine the boiling point of the given liquid acetone.
12 2O A P e
Identify phenol using Ferric Chloride Test.
L
& b5 Je 2 3L (Volumetric Analysis) U bl SR sdls § o/t (NaOH) 2200 o2t Edrdl oo
Determine the molarity of the given Sodium Hydroxide (NaOH) Solution Volumetrically.
3 o,
Note Book.
3 = Uy &@J
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